OAMZMBSREREHR

(B w490 —R)L+/BF)

TRE23FEE
BB s BIEAA eV
7815H 8A15H 9HA15H 10A14H 11A15H 12A15H 18A13H 2H148 38158
R ®.E1000m | 0.06 0.06 0.06 0.05 0.05 0.06 0.05 0.05 0.06
ANIET1-1082 | £ 500m 0.07 0.07 0.06 0.06 0.05 0.06 0.05 0.05 0.05
[k 76] 0t 5om 0.07 0.07 0.06 0.06 0.05 0.06 0.05 0.06 0.05
PR .E1000m | 0.07 0.07 0.07 0.06 0.07 0.07 0.07 0.07 0.08
{1310 . 500m 0.08 0.08 0.07 0.06 0.07 0.06 0.08 0.08 0.08
[k 5] 0t 5om 0.07 0.08 0.07 0.06 0.07 0.06 0.08 0.08 0.07
PR ®.E100om | 0.07 0.07 0.07 0.06 0.06 0.06 0.06 0.07 0.07
e 6-24-1 | H5.L500m 0.07 0.07 0.07 0.06 0.07 0.06 0.06 0.07 0.07
(525 0t 5om 0.06 0.07 0.07 0.06 0.06 0.06 0.06 0.07 0.07
P J.E1000m | 0.09 0.09 0.08 0.07 0.08 0.08 0.08 0.07 0.08
EAKERT-7-1 | H5.£500m 0.09 0.09 0.08 0.07 0.08 0.08 0.08 0.08 0.08
(5] bt 5om 0.09 0.09 0.09 0.07 0.08 0.08 0.08 0.08 0.07
— .E1000m | 0.07 0.07 0.06 0.07 0.06 0.06 0.06 0.07 0.07
NERBEEE | o 98 | #.E500m 0.07 0.07 0.06 0.06 0.06 0.06 0.06 0.07 0.07
(i) 0t 5om 0.08 0.07 0.06 0.06 0.06 0.07 0.07 0.07 0.07
— J.E1000m | 0.08 0.07 0.07 0.06 0.06 0.06 0.06 0.06 0.06
EERBEEE | 6308 | #.E500m 0.08 0.07 0.07 0.06 0.06 0.07 0.07 0.06 0.06
(8] .t 5om 0.07 0.06 0.07 0.06 0.06 0.07 0.07 0.06 0.06
BIEHER O oFL—av K —A_RAA—F(BIAT7OIAT«HIL (FR)E TCS-172B)
BIE AR 30N EDSEIEYIRLAITE DT
(B <490 —A~ )Lk /B
ERR24FEE
BB BIEAA Ar. AEE
48138 5A15H 6HA15H 7813H 8H15H 9A14H 10A12H 11A15H 12814H 1H16H 2A15H 3A15H
P ®.E1000m | 0.06 0.05 0.04 0.04 0.05 0.05 0.05 0.05 0.05 0.04 0.06 0.04
ANIET1-1082 | H.E500m 0.06 0.05 0.04 0.04 0.04 0.05 0.05 0.05 0.04 0.04 0.06 0.05
[k 76] .t 5om 0.06 0.05 0.05 0.04 0.05 0.05 0.04 0.05 0.04 0.04 0.07 0.04
PR J.E1000m | 0.06 0.07 0.06 0.06 0.06 0.05 0.06 0.06 0.05 0.05 0.06 0.05
{1310 £ 500m 0.06 0.07 0.06 0.05 0.05 0.06 0.06 0.07 0.05 0.05 0.06 0.06
(s3] 0t 5om 0.06 0.07 0.06 0.06 0.06 0.05 0.05 0.06 0.05 0.05 0.06 0.05
PR J.E1000m | 0.06 0.06 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.04 0.05 0.05
e 6-24-1 | H5.L500m 0.05 0.06 0.05 0.05 0.06 0.05 0.06 0.05 0.05 0.04 0.05 0.05
€ .t 5om 0.06 0.06 0.05 0.05 0.05 0.05 0.06 0.05 0.05 0.04 0.06 0.05
[ .E1000m | 0.06 0.07 0.07 0.07 0.07 0.07 0.07 0.07 0.07 0.06 0.06 0.06
EAEERT-7-1 | H5.£500m 0.07 0.07 0.07 0.08 0.07 0.06 0.07 0.07 0.07 0.06 0.06 0.06
(5] .t 5om 0.05 0.07 0.06 0.07 0.07 0.06 0.07 0.07 0.06 0.05 0.07 0.06
— J.E1000m | 0.05 0.06 0.05 0.05 0.06 0.05 0.05 0.05 0.05 0.04 0.06 0.06
ANEREE-BE ABI2-2-8 | #.L500m 0.06 0.06 0.06 0.05 0.06 0.06 0.05 0.06 0.05 0.04 0.06 0.05
(i) 0t 5om 0.06 0.06 0.06 0.06 0.05 0.05 0.05 0.06 0.05 0.04 0.06 0.05
— .E1000m | 0.06 0.06 0.06 0.06 0.06 0.06 0.05 0.06 0.06 0.06 0.06 0.06
/NIET1-308 | H5E500m 0.06 0.06 0.06 0.06 0.06 0.06 0.05 0.06 0.06 0.05 0.06 0.06
G .t 5om 0.06 0.06 0.05 0.05 0.06 0.06 0.05 0.06 0.06 0.06 0.06 0.05

BIEHER: O oFL—2av K —ARAA—F(BITAHATHIL ()& TCS-172B)

BIEAE: 30 ENS5EEEYRUAIE DT




(B <40 —~)Lk /F)

FRR 25
IS - Hh = BIEARAE A RIEE
48158 5H14H 68148 7H128 8H15H 9H13H 10A15H 11HA15H 12H14H 18148 2H21H 3H13-148
o msan an #h £ 100cm 0.04 0.05 0.05 0.05 0.05 0.05 0.06 0.05 0.04 0.04 0.05 0.06
INEE—INER R E
IN1ET1-1082 #h_F50cm 0.04 0.05 0.05 0.05 0.04 0.05 0.06 0.05 0.04 0.04 0.05 0.05
(hg-7E] #h tScm 0.04 0.05 0.05 0.05 0.04 0.05 0.05 0.04 0.03 0.04 0.05 0.05
s 4n #h £ 100cm 0.05 0.06 0.06 0.06 0.05 0.05 0.05 0.05 0.05 0.06 0.05 0.05
INESE ZINER R E
{hET310 #h_F50cm 0.05 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.06 0.05 0.06
(hg-3E] #h_tScm 0.05 0.05 0.06 0.06 0.05 0.05 0.06 0.06 0.05 0.06 0.05 0.06
N T #h £ 100cm 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.05
fEINEH6-24-1 | H# E50cm 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.06 0.05 0.05 0.05
(ZEB] #h tScm 0.05 0.05 0.04 0.04 0.04 0.04 0.05 0.05 0.06 0.05 0.05 0.05
FR—— #h £ 100cm 0.07 0.06 0.06 0.06 0.06 0.07 0.06 0.06 0.06 0.06 0.06 0.06
£ KEFHET1-7-1 #h_F50cm 0.06 0.06 0.06 0.06 0.06 0.07 0.07 0.06 0.07 0.06 0.07 0.06
(Fash) #h_tScm 0.06 0.06 0.06 0.05 0.05 0.07 0.06 0.06 0.06 0.06 0.06 0.06
S~ \ #h £ 100cm 0.06 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.06 0.04 0.05 0.05
KiBHET2-2-8 #h_F50cm 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05
€l&:1) #h tScm 0.05 0.05 0.04 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.04 0.04
EEEE.EE #h £ 100cm 0.06 0.06 0.05 0.06 0.06 0.06 0.06 0.06 0.06 0.05 0.06 0.06
IN1ET1-308 #h_F50cm 0.06 0.05 0.06 0.06 0.06 0.05 0.06 0.06 0.05 0.06 0.06 0.07
(FaER] #h tScm 0.06 0.06 0.05 0.06 0.06 0.05 0.06 0.06 0.05 0.06 0.06 0.06
BIERESR Do FL—2a XY —RAA—F(BILT7AAAT1AIL (BR)E TCS-172B)
BITE AL : 30 EDSEIHEY R LUAIE D T 15
(BAL: <090 —R)Lk /B
FRL26EE
BITEZAT - = BIERA b BB BIE &
48158 5A16H 68168 7H15H 8H15H 9H16-17H 10A16H 11A17H 12H16H 1H15-16H 2H16H 3A13H8
e s #h £ 100cm 0.05 0.05 0.05 0.05 0.05 0.04 0.05 0.05 0.05 0.06 0.07 0.06
INEE—INER IR E
INET1-1082 #h_F50cm 0.05 0.05 0.05 0.05 0.05 0.04 0.05 0.06 0.05 0.06 0.07 0.06
(hd-7E] #h tScm 0.04 0.05 0.05 0.04 0.04 0.04 0.04 0.05 0.05 0.06 0.06 0.05
s 4n #h_E100cm 0.05 0.05 0.05 0.05 0.04 0.05 0.05 0.05 0.06 0.05 0.05 0.05
INEE T INERR - B E
{thBT310 #h E50cm 0.05 0.05 0.06 0.05 0.05 0.05 0.05 0.05 0.06 0.05 0.04 0.05
CEIED #h_tScm 0.04 0.05 0.05 0.04 0.05 0.05 0.05 0.04 0.06 0.04 0.04 0.05
SN T #h £ 100cm 0.05 0.05 0.04 0.05 0.04 0.06 0.06 0.04 0.05 0.06 0.06 0.07
fEINEH6-24-1 | Hh E50cm 0.05 0.05 0.04 0.05 0.04 0.06 0.07 0.05 0.06 0.07 0.06 0.07
(&) #h tScm 0.04 0.05 0.05 0.05 0.04 0.06 0.06 0.05 0.05 0.06 0.06 0.07
K ek #h £ 100cm 0.06 0.05 0.07 0.06 0.05 0.06 0.06 0.07 0.07 0.07 0.06 0.05
EKEEHT1-7-1 #h_F50cm 0.07 0.05 0.07 0.06 0.05 0.06 0.06 0.06 0.07 0.07 0.06 0.05
(Fa&h) #h_tScm 0.06 0.06 0.07 0.06 0.05 0.06 0.06 0.06 0.06 0.07 0.06 0.05
A BEEE.EE \ #h £ 100cm 0.05 0.05 0.05 0.04 0.04 0.04 0.05 0.04 0.05 0.04 0.05 0.05
KiBHET2-2-8 #h_F50cm 0.05 0.05 0.05 0.05 0.04 0.05 0.05 0.05 0.05 0.05 0.05 0.05
(4t 7] #h_tScm 0.05 0.05 0.05 0.04 0.04 0.05 0.05 0.04 0.05 0.04 0.04 0.05
rEEEE.EE #h £ 100cm 0.06 0.06 0.06 0.06 0.05 0.05 0.05 0.06 0.06 0.06 0.06 0.05
INJ1ET1-308 #h_F50cm 0.06 0.06 0.06 0.06 0.05 0.05 0.05 0.06 0.06 0.06 0.06 0.05
(FaER] #h_tScm 0.05 0.05 0.05 0.06 0.05 0.05 0.05 0.06 0.06 0.05 0.05 0.05

AIERE Do FL—2av R —_AA—2(BIATOHAT (AL (#R) B TCS-172B)

BIE A% 30 B MSEHEYRLUBIE DT




(B <40 —~)Lk /F)

FER27TERE
I TE 35 - i R BIERA B &8I E B
48148 5H15H 68158 7H148 8H18H 9H18H 108158 118138 [12H14-15H 18158 2H15H 3H15-168
N — R #h_E100cm 0.06 0.07 0.06 0.05 0.05 0.05 0.04 0.04 0.05 0.05 0.05 0.04
E—INERBRE
/NJIIET1-1082 #h_E50cm 0.05 0.06 0.06 0.04 0.05 0.05 0.05 0.05 0.05 0.04 0.05 0.05
(dpok-7E) #h_FScm 0.05 0.06 0.06 0.04 0.05 0.05 0.05 0.04 0.06 0.04 0.05 0.05
s #h_£100cm 0.05 0.05 0.05 0.06 0.05 0.05 0.05 0.05 0.05 0.05 0.05 0.05
INESE ZINER R E
{$ET310 #h_E50cm 0.05 0.05 0.05 0.06 0.05 0.05 0.05 0.04 0.05 0.06 0.05 0.06
(-] #h_FScm 0.05 0.05 0.04 0.05 0.05 0.05 0.05 0.04 0.05 0.05 0.05 0.05
N N - #h_E100cm 0.06 0.05 0.05 0.06 0.05 0.06 0.06 0.05 0.07 0.06 0.07 0.04
TEINEFH6-24-1 | tHh E50cm 0.06 0.05 0.05 0.06 0.05 0.05 0.05 0.05 0.07 0.05 0.07 0.05
€LY #h_EScm 0.06 0.05 0.05 0.05 0.05 0.06 0.06 0.05 0.07 0.06 0.06 0.04
FE— #h_£100cm 0.06 0.06 0.07 0.06 0.06 0.05 0.05 0.05 0.06 0.07 0.07 0.07
LKEEET1-7-1 #h_E50cm 0.06 0.06 0.06 0.06 0.06 0.06 0.05 0.06 0.07 0.06 0.07 0.07
(Fafn) #h_FScm 0.06 0.06 0.06 0.06 0.06 0.05 0.05 0.05 0.07 0.06 0.07 0.07
AR EE - EE ~ #h_E100cm 0.05 0.05 0.05 0.04 0.04 0.05 0.05 0.05 0.05 0.05 0.05 0.05
KiBHET2-2-8 #h_E50cm 0.05 0.05 0.05 0.05 0.05 0.04 0.05 0.04 0.05 0.04 0.05 0.05
(dtER] #h_FScm 0.05 0.04 0.05 0.05 0.04 0.05 0.05 0.05 0.05 0.05 0.05 0.05
R EE-EE #h_£100cm 0.06 0.06 0.06 0.05 0.06 0.06 0.05 0.05 0.06 0.06 0.06 0.06
/NI ET1-308 #h_E50cm 0.06 0.06 0.06 0.05 0.06 0.06 0.05 0.05 0.06 0.06 0.06 0.06
(Cick:i)| #h_EScm 0.05 0.05 0.06 0.06 0.06 0.05 0.06 0.05 0.05 0.05 0.06 0.05
BIERESR Do FL—2a XY —RAA—F(BILT7AAAT1AIL (BR)E TCS-172B)
BIEAE: 30MEDSEIEYIRLUAIED T
(BfL: w490 —A~ )Lk B)
FRL28EE
I TE 5 - #h R BIERA B &8I E
48158 5A16H 68158 7H19H 8H15H 9H16H 10818H 118158 12A15H 1816-18H 2H15H 3A13H8
- o #1_E100cm 0.04 0.05 0.05 0.04 0.05 0.05 0.05 0.05 0.06 0.04 0.06 0.06
INEE—INER IR E
/NJIIET1-1082 #h_E50cm 0.05 0.05 0.06 0.04 0.05 0.05 0.05 0.06 0.06 0.05 0.06 0.06
(Hpok-7E) #h_EScm 0.05 0.04 0.05 0.04 0.05 0.05 0.05 0.05 0.06 0.04 0.06 0.06
s #h_£100cm 0.06 0.05 0.04 0.04 0.05 0.04 0.04 0.04 0.05 0.05 0.05 0.05
INEE T INERR - B E
{$ET310 #h_E50cm 0.06 0.05 0.04 0.04 0.05 0.04 0.04 0.04 0.05 0.05 0.05 0.04
(-] #h_EScm 0.06 0.04 0.04 0.04 0.04 0.04 0.04 0.04 0.04 0.06 0.05 0.05
N F I A #h_£100cm 0.07 0.06 0.05 0.06 0.06 0.06 0.05 0.06 0.07 0.07 0.06 0.06
TEINEH6-24-1 | Hh E50cm 0.07 0.06 0.06 0.06 0.06 0.07 0.05 0.06 0.06 0.07 0.07 0.07
EGE:1) #h_EScm 0.06 0.07 0.05 0.06 0.06 0.06 0.05 0.06 0.07 0.07 0.06 0.06
[ Kehs g #h_£100cm 0.07 0.07 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.05 0.07 0.06
EKEET1-7-1 #h_F50cm 0.07 0.06 0.08 0.06 0.06 0.07 0.06 0.06 0.06 0.06 0.07 0.07
(Fa#n) #h_EScm 0.07 0.06 0.07 0.06 0.06 0.07 0.06 0.05 0.06 0.06 0.07 0.06
KR EE - EE ~ #h_£100cm 0.04 0.05 0.05 0.04 0.05 0.05 0.04 0.04 0.05 0.05 0.05 0.05
KiBHET2-2-8 #h_E50cm 0.05 0.05 0.05 0.05 0.04 0.05 0.04 0.05 0.05 0.05 0.05 0.05
El4:)) #h_FScm 0.04 0.04 0.04 0.04 0.05 0.04 0.04 0.04 0.05 0.05 0.05 0.05
R EE-EE #h_£100cm 0.05 0.06 0.05 0.05 0.05 0.06 0.05 0.05 0.05 0.05 0.06 0.05
/NJI1ET1-308 #h_E50cm 0.05 0.06 0.05 0.05 0.05 0.06 0.05 0.05 0.06 0.05 0.05 0.05
(Cick:i)| #h_EScm 0.05 0.05 0.05 0.05 0.05 0.06 0.05 0.06 0.06 0.05 0.06 0.06

AIERE Do FL—2av R —_AA—2(BIATOHAT (AL (#R) B TCS-172B)

BIE A% 30 B MSEHEYRLUBIE DT




(B <40 —~)Lk /F)

FRR29EFE
IS - Hh = BIEARAE A RIEE
48178 5H18H 68148 7H148 8H15H 9H15H 104188 [11A15-168( 128158 18158 2H15H 3A15H
o msan an #h £ 100cm 0.06 0.06 0.05 0.06 0.06 0.05 0.05 0.05 0.06 0.05 0.06 0.06
INEE—INER R E
IN1ET1-1082 #h_F50cm 0.06 0.06 0.06 0.06 0.06 0.06 0.05 0.05 0.06 0.06 0.07 0.06
(hg-7E] #h tScm 0.06 0.05 0.06 0.06 0.06 0.05 0.06 0.05 0.06 0.06 0.07 0.06
s 4n #h £ 100cm 0.05 0.05 0.05 0.04 0.05 0.04 0.04 0.04 0.04 0.05 0.05 0.04
INESE ZINER R E
{hET310 #h_F50cm 0.05 0.05 0.04 0.04 0.06 0.05 0.05 0.04 0.05 0.05 0.05 0.05
(hg-3E] #h_tScm 0.04 0.05 0.04 0.04 0.05 0.04 0.04 0.04 0.05 0.05 0.04 0.05
N T #h £ 100cm 0.05 0.06 0.06 0.05 0.06 0.06 0.06 0.07 0.07 0.07 0.06 0.06
fEINEH6-24-1 | H# E50cm 0.05 0.06 0.06 0.06 0.06 0.06 0.06 0.07 0.07 0.06 0.06 0.06
(ZEB] #h tScm 0.05 0.06 0.06 0.06 0.06 0.06 0.06 0.07 0.06 0.07 0.06 0.06
FR—— #h £ 100cm 0.07 0.06 0.07 0.05 0.05 0.06 0.06 0.07 0.07 0.06 0.06 0.06
£ KEFHET1-7-1 #h_F50cm 0.06 0.07 0.07 0.05 0.06 0.05 0.06 0.07 0.07 0.07 0.06 0.07
(Fash) #h_tScm 0.07 0.06 0.06 0.05 0.05 0.05 0.06 0.07 0.07 0.07 0.06 0.07
S~ \ #h £ 100cm 0.05 0.05 0.05 0.04 0.05 0.04 0.04 0.05 0.05 0.05 0.05 0.05
KiBHET2-2-8 #h_F50cm 0.05 0.05 0.05 0.04 0.05 0.04 0.05 0.05 0.05 0.06 0.06 0.05
€l&:1) #h tScm 0.05 0.05 0.04 0.04 0.04 0.05 0.05 0.05 0.05 0.05 0.04 0.05
EEEE.EE #h £ 100cm 0.05 0.05 0.06 0.05 0.07 0.06 0.06 0.07 0.06 0.06 0.07 0.06
IN1ET1-308 #h_F50cm 0.05 0.05 0.06 0.05 0.07 0.06 0.06 0.07 0.07 0.06 0.07 0.05
(FaER] #h tScm 0.05 0.05 0.06 0.05 0.07 0.06 0.06 0.06 0.06 0.05 0.06 0.06
BIERESR Do FL—2a XY —RAA—F(BILT7AAAT1AIL (BR)E TCS-172B)
BITE AL : 30 EDSEIHEY R LUAIE D T 15
(BAL: <090 —R)Lk /B
FRRI0EE
BITEZAT - = BIERA b BB BIE &
48168 5H15H 6H15-18H 7H13H 8H14H 9H14H 10A15H 11H15H 12H14H 1A15H8 2H15H 3A15H8
e s #h £ 100cm 0.05 0.06 0.05 0.06 0.06 0.06 0.04 0.06 0.07 0.05 0.05 0.05
INEE—INER IR E
INET1-1082 #h_F50cm 0.05 0.06 0.05 0.06 0.06 0.06 0.05 0.06 0.06 0.06 0.05 0.05
(hd-7E] #h tScm 0.05 0.06 0.06 0.06 0.05 0.06 0.04 0.05 0.06 0.05 0.05 0.05
s 4n #h_E100cm 0.04 0.05 0.05 0.05 0.05 0.04 0.04 0.05 0.05 0.05 0.04 0.05
INEE T INERR - B E
{thBT310 #h_F50cm 0.05 0.04 0.05 0.05 0.06 0.05 0.04 0.06 0.05 0.05 0.05 0.05
CEIED #h_tScm 0.04 0.04 0.05 0.04 0.04 0.04 0.04 0.05 0.04 0.05 0.04 0.05
SN T #h £ 100cm 0.06 0.07 0.06 0.06 0.05 0.06 0.05 0.07 0.06 0.06 0.06 0.06
fEINEH6-24-1 | Hh E50cm 0.06 0.06 0.07 0.06 0.05 0.06 0.06 0.08 0.07 0.06 0.06 0.06
(&) #h tScm 0.05 0.06 0.06 0.06 0.06 0.06 0.05 0.07 0.07 0.07 0.06 0.05
K ek #h £ 100cm 0.06 0.05 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
EKEEHT1-7-1 #h E50cm 0.06 0.05 0.06 0.06 0.07 0.06 0.06 0.06 0.06 0.07 0.07 0.06
(Fa&h) #h_tScm 0.06 0.05 0.06 0.06 0.07 0.06 0.06 0.06 0.06 0.07 0.07 0.05
A BEEE.EE \ #h £ 100cm 0.05 0.04 0.04 0.05 0.04 0.06 0.05 0.05 0.05 0.05 0.05 0.04
KiBHET2-2-8 #h_F50cm 0.05 0.05 0.05 0.04 0.04 0.06 0.05 0.05 0.05 0.05 0.05 0.05
(4t 7] #h_tScm 0.05 0.04 0.05 0.04 0.04 0.06 0.05 0.05 0.05 0.05 0.05 0.05
rEEEE.EE #h £ 100cm 0.06 0.05 0.06 0.06 0.06 0.06 0.06 0.06 0.05 0.07 0.07 0.06
INJ1ET1-308 #h E50cm 0.06 0.06 0.06 0.06 0.05 0.06 0.06 0.05 0.04 0.07 0.07 0.06
(FaER] #h_tScm 0.06 0.06 0.06 0.05 0.05 0.06 0.05 0.05 0.06 0.07 0.07 0.07

AIERE Do FL—2av R —_AA—2(BIATOHAT (AL (#R) B TCS-172B)

BIE A% 30 B MSEHEYRLUBIE DT




(B <40 —~)Lk /F)

TR EE, SHTEE
BB - Hh S BFEAR AN AEs BIE(E
4816H 58178 68178 7H16-178H 8A14H 9817-18-19H | 10824-28H 11815 12816H 1820H 2810-13H 3816H
T 3. 1000m 0.06 0.06 0.05 0.06 0.07 0.05 0.06 0.05 0.06 0.05 0.07 0.06
INEE— N BBE
/ANIET1-1082 | HoE500m 0.05 0.06 0.05 0.06 0.07 0.05 0.05 0.05 0.06 0.06 0.06 0.06
(k7] 6_F 5om 0.05 0.07 0.06 0.06 0.07 0.05 0.05 0.05 0.05 0.05 0.06 0.06
e 3. 1000m 0.04 0.04 0.04 0.04 0.07 0.04 0.05 0.05 0.05 0.06 0.05 0.05
INEE TN BE
{RET310 5 500m 0.05 0.04 0.05 0.04 0.07 0.04 0.05 0.05 0.05 0.07 0.05 0.05
(k-] 6_E 5om 0.04 0.04 0.04 0.04 0.07 0.04 0.06 0.05 0.05 0.07 0.05 0.04
. 3.t 1000m 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.07 0.06 0.07 0.06 0.07
e/ $346-24-1 | #LE500m 0.06 0.06 0.05 0.06 0.07 0.06 0.07 0.07 0.06 0.06 0.07 0.06
[5£) #5_E 5om 0.06 0.05 0.05 0.06 0.07 0.07 0.07 0.06 0.06 0.06 0.06 0.07
[T 3.t 1000m 0.05 0.05 0.05 0.06 0.07 0.06 0.06 0.06 0.06 0.06 0.06 0.07
EAKFEETI-7-1 | #.E500m 0.06 0.05 0.06 0.07 0.07 0.07 0.06 0.07 0.06 0.06 0.05 0.06
G #5_F 5om 0.07 0.06 0.06 0.06 0.07 0.06 0.06 0.06 0.06 0.06 0.06 0.06
P | 3.t 1000m 0.05 0.05 0.04 0.05 0.06 0.05 0.06 0.05 0.05 0.06 0.06 0.06
K;BET2-2-8 | #.t500m 0.05 0.05 0.05 0.05 0.08 0.04 0.05 0.06 0.06 0.06 0.06 0.05
[4L5] #6_E 5om 0.05 0.05 0.04 0.04 0.07 0.05 0.05 0.05 0.05 0.06 0.06 0.06
RE—— 3.t 1000m 0.06 0.05 0.05 0.07 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
JNIET1-308 | #5.E500m 0.06 0.05 0.05 0.08 0.07 0.06 0.07 0.06 0.06 0.07 0.06 0.06
G #5_F 5om 0.06 0.05 0.05 0.07 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
BIE#HER O oFL—av K —_RAA—F2(BIAT7OAAT4HIL () B TCS-172B)
A% A% 30HE N5 EEYELAE DT
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ST2EE
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48148 5815H 6H15H 78168 8H17H 9H18H 10820 11819 128178 1B7H
e e H6.E 1000m 0.06 = 0.06 - 0.06 - 0.06 - 0.06 -
NFRNFRCRE | iEri-1082 | #.E500m 0.05 - 0.05 - 0.05 - 0.06 - 0.06 -
(k7] #5_F 5om 0.06 - 0.05 - 0.06 - 0.06 - 0.06 -
e r e 3. 1000m 0.05 - 0.05 n 0.05 n 0.05 = 0.06 =
IFRIERBE | e 5t 500m 0.05 - 0.05 - 0.06 - 0.04 - 0.07 -
(k-] 45 E 5om 0.05 - 0.05 - 0.05 - 0.05 - 0.07 -
e e 3£ 1000m 0.05 - 0.05 n 0.06 n 0.07 = 0.07 =
INFEE T NGRS - R BE FEINEF6-24-1 | #5E500m 0.06 - 0.07 - 0.06 - 0.06 - 0.07 -
[s20) #6_E 5om 0.07 - 0.06 - 0.06 - 0.07 - 0.07 -
r 3. 1000m 0.06 0.06 = 0.06 = 0.05 = 0.06 - 0.06
EARERBE | | w71 | #E500m 0.06 0.06 - 0.06 - 0.06 - 0.05 - 0.07
G 5 F 5om 0.05 0.06 - 0.05 - 0.06 - 0.06 - 0.06
N 3. 1000m 0.05 0.06 = 0.05 = 0.06 = 0.05 n 0.06
A KiBET2-2-8 | #5.E500m 0.06 0.06 - 0.06 - 0.06 - 0.05 - 0.06
(4] $#5_E 5om 0.06 0.06 - 0.06 - 0.06 - 0.06 - 0.06
I M5 1000m 0.07 0.06 = 0.06 = 0.06 = 0.06 n 0.06
EERAEEE | 6308 | #.E500m 0.06 0.06 - 0.06 - 0.06 - 0.06 - 0.06
G 5 E 5om 0.06 0.06 - 0.06 - 0.06 - 0.06 - 0.07
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STERE
BB - s BEAA Ak el
5H24H 9A27H 128278 3A7H
PR 3£ 1000m 0.06 0.06 0.07 0.07
ANIETT-1082 | #.E500m 0.07 0.06 0.07 0.07
[k -78) 0t 5om 0.07 0.07 0.07 0.07
PR 3. 1000m 0.06 0.06 0.05 0.06
{ET310 #_F 500m 0.06 0.05 0.05 0.06
[z 5) 0t 5om 0.07 0.06 0.06 0.06
S J.E1000m 0.07 0.06 0.07 0.08
MFRENFRCRE | [ $96-24-1 | H.E500m 0.07 0.06 0.07 0.08
(%] 0t 5om 0.06 0.06 0.07 0.08
i 3. 1000m 0.08 0.06 0.07 0.08
ERRFRBE | | mmr 71 | #.E500m 0.08 0.07 0.07 0.07
(5] 0t 5om 0.08 0.06 0.07 0.07
— 3. 1000m 0.06 0.06 0.06 0.07
AARAE-NE KiAE2-2-8 | #1E500m 0.06 0.06 0.06 0.07
(4L25] 0t 5om 0.07 0.07 0.06 0.07
— 3. 1000m 0.06 0.06 0.07 0.06
EERBEEE | 6308 | #.E500m 0.06 0.06 0.06 0.07
(] 0t 5om 0.06 0.06 0.06 0.07
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5H824H 8H29H 12823H 3H24H-27H
PR J.E1000m 0.07 0.07 0.07 0.07
/NIIBT1-1082 #h E50cm 0.08 0.07 0.07 0.07
ek - 7a) .t Som 0.07 0.06 0.06 0.07
PR . 1000m 0.05 0.06 0.05 0.06
{1310 . 500m 0.06 0.06 0.05 0.05
[k - 5) bt 5om 0.06 0.06 0.04 0.05
R . 1000m 0.07 0.06 0.07 0.07
INEE R INERL - B E TEINE$6-24-1 | HoE500m 0.07 0.07 0.07 0.07
€ .t 5om 0.08 0.07 0.07 0.07
o . 1000m 0.07 0.07 0.07 0.06
EARPFRRE | | mdr 71 | #.E500m 0.07 0.08 0.07 0.06
(5] .t 5om 0.07 0.07 0.06 0.06
— . 1000m 0.06 0.06 0.06 0.05
ANEREE-BE ABI2.2.8 | H.E500m 0.07 0.06 0.06 0.05
(48] bt 5om 0.08 0.06 0.06 0.05
— 3. 1000m 0.06 0.07 0.06 0.07
LEEREEE | e 308 | #.E500m 0.07 0.06 0.07 0.07
G bt 5om 0.07 0.06 0.07 0.07
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SHSEE
BTSSR - Hh 2 BIERA - AeE BIE(E
58228 8A31H 11820 3228
R #_E 1000m 0.07 0.06 0.06 0.07
INIET1-1082 | #1E500m 0.07 0.06 0.07 0.07
[ch.76) #_F 5om 0.07 0.06 0.06 0.07
T N A #_F 1000m 0.04 0.05 0.05 0.05
TR {HET310 #_+ 500m 0.05 0.05 0.05 0.05
[chse-5) #_F 5cm 0.04 0.05 0.05 0.05
e e e #_E 1000m 0.07 0.06 0.06 0.07
NFBENFERBE | e s6.24-1 | #.E500m 0.07 0.06 0.06 0.07
[525) #_F 5cm 0.06 0.06 0.06 0.06
i n #_F 1000m 0.07 0.07 0.07 0.07
ERBFRBE | | w71 | .t 500m 0.07 0.06 0.07 0.07
GED) #_F 5cm 0.07 0.06 0.07 0.06
#_F 1000m 0.06 0.05 0.05 0.05
BREE-E
AERAE-EE K3BET2-2-8 | #1E500m 0.06 0.05 0.05 0.05
[4t25) #_F 5cm 0.06 0.04 0.05 0.05
I #_F 1000m 0.06 0.05 0.06 0.06
LEERBEEE | Era08 | #.E500m 0.07 0.05 0.07 0.06
[#20) #_F 5om 0.07 0.05 0.06 0.06
BRSSO oFL—a K Y —A_RAA—R(BILT7OHAT4HIL ()& TCS-172B)
BT 753 : 30FME DS ERYR LAIE O
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SHGEE
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A #h £ 100cm 0.06 0.06
IR FRRE INIET1-1082 | #1E500m 0.06 0.06
GENi) #_F 5om 0.06 0.06
5 — I\ #h £ 100cm 0.04 0.05
IR RE {HET310 Mt 500m 0.05 0.05
GESS #_F 5om 0.05 0.05
T I\ t#h £ 100cm 0.06 0.07
MEBENFRCBE | e gt6.04.1 | #.E500m 0.06 0.07
[5E] #_F 5om 0.06 0.08
T t#h £ 100cm 0.06 0.07
ket B FKEIRT1-7-1 | #1.E50cm 0.06 0.06
GED #_F 5om 0.07 0.06
#h F100cm 0.06 0.04
3 = .
KEBREE-ERE TE2-2-8 #h_F50cm 0.06 0.04
[4t25] #_F 5om 0.06 0.05
N # £ 100cm 0.06 0.06
LERAE-EE /N1 ET1-308 #h_F50cm 0.06 0.06
Gk #_F 5om 0.06 0.06
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